1. Perhitungan hasil pengujian impak spesimen variasi karet 30%
a. Spesimen 1

Energi impak:
E =W X R (cosf — cosa)
= 26,32kg X 0,647 m (cos37° — cos45°)
= 17,02 kg.m x (0,798 — 0,707)
= 17,02kg.m x 0,091

= 1,548 kg.m — 1,548 Joule

Harga impak:

HI—E
= s

_ 1,548 Joule
~ 80 mm?

= 0,0193 Joule/mm?

b. Spesimen 2
Energi impak:
E =W X R(cosf — cosa)
= 26,32kg X 0,647 m (cos36° — cos45°)
= 17,02 kg.m x (0,809 —0,707)
= 17,02kg.m x 0,102
= 1,736 kg.m — 1,736 Joule

Harga impak:
HI = £
=
_ 1,736 Joule
~ 80 mm?

=0,0217 Joule/mm?
c. Spesimen 3
E =W X R(cosf — cosa)



= 26,32 kg X 0,647 m (cos37° — cos45°)
= 17,02 kg.m x (0,798 — 0,707)

= 17,02kg.m x 0,091

= 1,548 kg.m — 1,548Joule

Harga impak:
HI = E
==
_ 1,548 Joule
~ 80 mm?
= 0,0193 Joule/mm?

1. Perhitungan hasil pengujian impak spesimen variasi karet 40%
a. Spesimen 1
E =W X R (cosf — cosa)
= 26,32kg X 0,647 m (cos37° — cos45°)
= 17,02 kg.m x (0,798 — 0,707)
= 17,02kg.m x 0,091
= 1,548 kg.m — 1,548 Joule

Harga impak:
HI = £
=5
1,548 joule
~ 80 mm?
= 0,0193 Joule/mm?
b. Spesimen 2

E =W X R(cosf — cosa)
= 26,32kg x 0,647 m (cos37° — cos45°)
= 17,02 kg.m x (0,798 — 0,707)
= 17,02kg.m x 0,091
= 1,548 kg.m — 1,548 Joule



Harga impak:

HI = E
==
_ 1,548 Joule
~ 80 mm?
= 0,0193 Joule/mm?
c. Spesimen 3

E =W X R (cosf — cosa)
= 26,32 kg X 0,647 m (cos37° — cos45°)
= 17,02 kg.m x (0,798 — 0,707)
= 17,02kg.m x 0,091
= 1,548 kg.m — 1,548 Joule

Harga impak:
HI = E
= T
_ 1,548 Joule
~ 80 mm?
=0,0193 Joule/mm?

2. Perhitungan hasil pengujian impak spesimen variasi karet 50%
a. Spesimen 1
E =W X R(cosf — cosa)
= 26,32kg x 0,647 m (cos38° — cos45°)
= 17,02 kg.m x (0,788 —0,707)
= 17,02kg.m x 0,084
= 1,429kg.m — 1,429 Joule

Harga impak:

HI = £
=
_ 1,429 Joule
~ 80 mm?

=0,0179 Joule/mm?



b. Spesimen 2
E =W X R(cosp — cosa)
= 26,32kg X 0,647 m (cos37° — cos45°)
= 17,02 kg.m x (0,798 — 0,707)
= 17,02kg.m x 0,091
= 1,548 kg.m — 1,548 Joule

Harga impak:

_E

==

_ 1,548 Joule
~ 80 mm?

= 0,0193 Joule/mm?

HI

c. Spesimen 3
E =W X R(cosp — cosa)
= 26,32 kg X 0,647 m (cos38° — cos45°)
= 17,02kg.m x (0,788 —0,707)
= 17,02kg.m x 0,084
= 1,429kg.m - 1,429 Joule

Harga impak:

HI = £
==
_ 1,429 Joule
~ 80 mm?

=0,0179 Joule/mm?


















